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Chapter 1

The Strategic Approach to Human Resource Management
True/False
1.
Human resources management has authority regarding several functions and can advise line managers in other departments.

Answer: True
Page: 9
Moderate

2.
The strategic approach is used in marketing and financing courses but not in information systems courses.

Answer: False
Page: 9
Easy

3.
A strategy is a game plan for action and usually includes the formulation of a goal and a set of action plans for accomplishment.

Answer: True
Page: 9
Easy

4.
Strategy is the formulation of organizational missions, goals, and objectives as well as action plans for achievement that explicitly recognize the competition and impact of outside environmental forces.
Answer: True
Page: 10
Easy

5.
As demand for products increase, the craft system is able to keep up; craftsmen have to hire more apprentices and the workplace becomes more like a small factory.

Answer: False
Page: 11
Moderate

6.
Scientific management tried to find the one best way to do a job.

Answer:  True
Page: 11
Easy

7.
Douglas McGregor, the father of scientific management, spent his career collecting data and analyzing the specific motions required to perform various jobs.

Answer: False
Page: 12
Moderate

8.
The Hawthorne studies found that human interaction and attention paid to the workers caused productivity to decrease.

Answer: False
Page: 12
Moderate

9.
Human resource management preceded the behavioral science era.

Answer: False
Page: 12
Difficult

10.
Increased government regulation changed the nature of human resource management.

Answer: True
Page: 13
Easy

11.
The outside environment provides a set of opportunities and threats to the organization.

Answer: True
Page: 15
Difficult

12.
Strategic human resource management’s primary focus is on labor market conditions.

Answer: False
Page: 15
Moderate

13.
Strategic human resource management would not be concerned with labor availability in a geographic area.

Answer: False
Page: 15
Difficult

14.
A firm’s strategy should have a long-range focus but should be adaptable and flexible to change to environmental conditions.

Answer: True
Page: 16
Difficult

15.
Strategic human resource management is primarily concerned with hourly or operational employees.

Answer: False
Page: 16
Moderate

16.
Excellent coordination and combination of the firm’s functional areas often result in a phenomenon known as synergy.

Answer: True
Page: 17
Easy

17.
If a firm uses a strategic human resource approach, the vice-president of human resources would be a member of the top-level decision-making team.

Answer: True
Page: 18
Moderate

18.
All human resource managers must take responsibility for efficient and effective utilization of their subordinates.

Answer: True
Page: 20
Easy

19.
The strategic human resource management approach views all managers as operative employees.

Answer: False
Page: 20
Difficult

20.
A firm tries to achieve a sustainable competitive advantage by analyzing competition.

Answer: True
Page: 21
Easy

Multiple Choice
21.
Which of the following is NOT one of the strategic choices managers must sometimes make?

a.
Should we remain with the existing strategy or change to a new one?

b. What has or has not changed in our environment?

c. Will our change affect other functional areas?

d. What will our competitors do?

e. All of the above are strategic choices.

Answer: e


Page: 9
Difficult
22.
A strategic plan consists of which of the following?

a. Goals and objectives

b. Objectives and action plans

c. Goals and action plans

d. Goals and contingencies

e. None of the above

Answer: c


Page: 9
Moderate

23.
Investments in human resources pay off for an organization through 


a. planning choices.

b. organization choices.

c. improved productivity.
d. control tools.
Answer: c


Page: 10
Easy

24.
The text defines strategy in terms of which of the following?

a.
missions, goals, objectives, action plans, and an understanding of competition and outside forces

b. missions, goals, contingency plans, and an understanding of competition and outside forces

c. objectives, action plans, controls, and an understanding of competition and outside forces

d. decisions, choices, and an analysis of competition and outside forces

e. consideration of competition and the impact of outside forces

Answer: a


Page: 10
Difficult

25.
Which of the following was not listed as a characteristic of the craft system?


a.
Production was generated by a small group of people.

b. There was one supervisor.

c. There was a clear career path for workers.

d. There was one best way to engineer a task.

e. There was no dispute over wages.

Answer: d


Page: 11
Difficult

26.
Scientific management was characterized by the following except
a.
one best way to do a job.

b. specialization of labor.

c. boring, monotonous jobs.

d. inability to quickly replace workers.

e. the development on rules and regulations.

Answer: d


Page: 11
Difficult

27.
Under this system the production of goods and services are generated by small groups of workers in relatively small workplaces, usually in the home.

a.
The Industrial Revolution

b.
The Craft System

c.
Behavioral Science

d.
Environmental Scanning

Answer: b


Page: 11
Moderate

28.
Which of the following is a disadvantage to scientific management?

a.
It increased the productivity of workers.

b. It depersonalized the work environment.

c. It shows that there is one best one to do a job.

d. It reduces costs and makes the task more efficient.

e. It allows firms to earn the most profit.

Answer: b


Page: 12 
Moderate

29.
The researchers at the Hawthorne plant found

a.
nothing that they did increased productivity.

b.
the workers did not care about productivity.

c.
changing the level of illumination did not affect productivity.

d.
human interaction and attention to the workers increased productivity.

e.
none of the above.

Answer: d


Page: 12
Moderate

30.
Which of the following was NOT learned from the Hawthorne studies?

a.
Satisfaction increases productivity.

b.
There was a need for a more participative workplace atmosphere.

c.
The needs of employees must be understood.

d.
Management must act on the needs and concern of employees.

e.
There is a modern-day focus on employee involvement programs.

Answer: a


Page: 12
Easy

31.
According to the text, what makes behavioral science different from the human relations movement?

a.
A focus on groups in addition to individuals.

b.
An increased focus on the organization and less on the individual.

c.
The inclusion of the hard sciences into the study of humans.

d.
An increased focus on the individual and less on the organization.

Answer: b


Page: 12
Difficult

32.
All of the following fields grew out of the behavioral science era except
a.
centralized management authority.

b.
organizational behavior.

c.
organizational development.

d.
human resource management.

Answer: a


Page: 12
Difficult

33.
The following are characteristics that Human Resource professionals should possess except
a.
ability to work in teams settings.

b.
highly autocratic leadership skills.

c.
strong communication abilities.

d.
highly developed leadership skills.

e.
good human relations skills.

Answer: b


Page: 15
Moderate

34.
One of the goals in strategic human resource management with respect to the outside environment is

a.
to avoid threats while looking for opportunities within the company.

b.
to locate opportunities while scanning for threats within the company.

c.
to capitalize on potential opportunities and minimize potential threats.

d.
to capitalize on potential opportunities and threats.

Answer: c


Page: 15
Moderate

35.
The outside environment represents a set of forces containing opportunities and threats.  Which of the following would not be considered an outside environmental force?

a.
labor market conditions

b.
employee satisfaction

c.
political forces

d.
international market changes

e.
laws and regulations

Answer: b


Page: 15
Easy

36.
Which of the following is a true statement concerning strategic human resource management?

a.
A strategic human resource approach is concerned with the hourly or operational personnel the most.

b.
A strategic human resource approach is concerned with executive compensation and benefits the most.

c.
A strategic human resource approach is concerned with all of the firm’s employees, executive through hourly.

d.
A strategic human resource approach is concerned with staff personnel the most.

e.
A strategic human resource approach is concerned with line personnel the most.

Answer: c


Page: 16
Difficult

37.
The concept that illustrates that the combined whole of the company is more valuable than the sum of its parts is known as

a.
mass production.

b.
mass customization.

c.
production prototypes.

d.
organization blueprints.

e.
economies of scope.

Answer: e


Page: 17
Moderate

38.
Line managers expect HR managers to

a.
become knowledgeable about the business.

b.
become knowledgeable about HR issues.

c.
make decisions by exercising judgment.

d.
reduce the regulations required by the government.

Answer: a


Page: 20
Easy

39.
The relationship of staff to line personnel should be one of

a.
conflict.

b.
support.

c.
indifference.

d.
directing line personnel’s behavior.

e.
there is no relationship.

Answer: b

Page: 20
Easy

40.
A firm learns about its outside environment through

a.
external scanning processes.

b.
strategic human resource planning sessions.

c.
internal tracking devices.

d.
internal financial reports.

e.
labor unions.

Answer: a


Page: 21
Moderate

41.
The following are factors that may be used to evaluate a firm’s critical success areas except
a.
technology.

b. growth rates.

c. concentration ratio.

d. substitute products or services in related industries.

e. degree of authoritarian management.

Answer: e


Page: 21
Difficult

42.
The critical success factors for a firm’s particular industry are important because

a. they determine whether or not the firm be successful in its industry.

b. they set it apart from other competitors in the industry.

c. they give the firm its distinctive competence.

d. they allow the firm to charge high prices.

Answer: a


Page: 21
Moderate

43.
Which of the following is NOT a true statement concerning technology?

a. It is relatively unimportant to the formulation of strategic plans.

b. It affects the human resource strategic plan.

c. It has a major impact on job design decisions.

d. It exists in the environment and is adopted by the firm.

e. It can create a set of constraints within which human resource decisions can be made.

Answer: a


Page: 22
Difficult

44.
What is the relationship between corporate and functional strategies?

a. Corporate strategy drives functional strategy.

b. Functional strategy affects corporate strategy.

c. Corporate strategy is important and functional strategy is not.

d. a and b only.

e. All of the above.

Answer: d


Page: 24
Moderate

45.
Strategy formulation might best be described as a

a. static process.

b. realized process.

c. dynamic process.

d. neat and clean process.

Answer: c


Page: 26
Easy

46.
Logical incrementalism refers to

a. what the firm really does, not what it says it’s going to do.

b. how the firm reaches consensus on a strategic plan.

c. being proactive.

d. how the firm’s strategy is executed.

e. the additional measured change or reaction to a particular event. 

Answer: e


Page: 27
Moderate

47.
The type of strategy that is formulated during the planning period is known as the

a. marketing strategy.

b. realized strategy.

c. reactive strategy.

d. intended strategy.

Answer: d


Page: 27
Easy

48.
The strategy that is modified as the events take place within the organization and the external environment is the

a. marketing strategy.

b. realized strategy.

c. proactive strategy.

d. intended strategy.

Answer: b

Page: 27
Easy

49.
Why is the realized strategy often different from the intended strategy?


a. The planners did not do enough scanning.

b. The strategy was implemented incorrectly.

c. Unanticipated forces affected the planned strategy.

d. Events occurred that changed the strategy.

e. All of the above.

Answer: e


Page: 27
Difficult

50.
From a strategic and economic perspective, the underlying decision an organization must make regarding its human resources is its

a. financial plans.

b. grievance turnover records.

c. capital/labor ratio.

d. marketing mix strategies.

e. sales forecast.

Answer: c


Page: 28
Moderate

51.
Since the Industrial Revolution, organizations have substituted capital for labor by using machine power to replace

a. electrical power.

b. scientific management.

c. solar power.

d. human power.

e. mechanistic organizations.

Answer: d


Page: 28
Easy

52.
Which of the following is NOT an advantage of using automation in the production process?

a. It decreases labor costs.

b. It increased productivity.

c. It improves efficiently.

d. It improves societal well-being.

Answer: d


Page: 28
Difficult

53. Organizations invest in smart machines instead of people because;


a. they are more expensive

b. they do the job more cheaply and efficiently than people.

c. they are less efficient.

d. They are less productive.

e. They have smaller input/output ratios.

Answer b

Page 28
Moderate

54 
The following has resulted in technological advances except

a. if they are laid off they may never get a job again.

b. Those who do find work may find much lower paying jobs.

c. Enter retraining programs to learn new skills.

d. Refuse to move and relocate.

e. People become alienated.

Answer d

Page 29
Moderate

55
In an organization, not all behavior is political, but it becomes political when it attempts to manage or control the


a. meanings of employees.
b. norms of employees.
c. behavior of employees.
d. all of the above.


Answer d 
Page 30
Easy


56. 
Managers may hire employees in human resources management based on:


a. centralization of authority.

b. unity of command.

c. span of control.

d. corporate control.

e. Political influence.

Answer e
Page 31
Easy

57
The human resources department has traditionally been a:

a. line function.

b. conceptional skill.

c. staff function.

d. bureaucratic skill.

e. scientific skill.

Answer c
Page 31
Moderate

58.
Today, companies have vice presidents of human resources management both at the



a. line and functional level.

b. traditional and nontraditional level.

c. corporate and divisional level.

d. autocratic and bureaucratic level.

e. multi-employer and employee level.

Answer. c
Page 31
Difficult

59.
A company closing a plant would have the human resource unit provide the   decision makers all of the following information except:

a. number of people affected.

b. severance costs.

c. early retirement costs.

d. net income or loss.

Answer d
Page 31
Moderate

60.
In the final step of a plant closing the human resource unit would


a.
analyze revenues.


b.
utilize graphic analysis.

c. use trend analysis.


d. rank order decisions.

Answer d
Page 32
Difficult

Short Essay
61. What are the tasks of Human Resource Management?

Answer:

We can think of HRM as a variety of tasks associated with acquiring, training, developing, motivating, organizing, and maintaining the human employees of the firm.  These tasks should be performed in a way that helps the company deal effectively with any environmental forces and competition and ensures the company’s long-term achievement of its goals and objectives.

                       Page:  10

Easy

62. Define synergy and economies of scope.

Answer:

Synergy is the extra benefit or value realized when resources have been combined and coordinated effectively.  Economies of scope is the concept of synergy that makes the combined whole of the company (or companies) more valuable than the sum of its parts.


             Page:  16
Moderate

63. What is meant by environmental scanning in an organization?

Answer:


The firm learns of its environment through a scanning process.  This refers to the gathering of information about environmental issues on a regular basis and interpreting them in light of the organization’s business.  Scanning is the first step to strategic planning and strategy formulation.  A scan and a forecast are developed and serve as the basis for the plan.


                    Page:  21
Moderate
64. Define reaction and proaction and how they relate to strategies in an organization.

Answer:


Reaction is an approach to strategy formulation or decision making wherein an organization reacts to threats “after the fact.”  Proaction is an approach to strategy formulation or decision making wherein strategies are formed in anticipation of problems.  Although the reactive label might be appropriate if every course of action a firm undertook was in response to a threat, it certainly would not be appropriate if the firm followed a well-formulated strategy but was able to modify it as conditions changed.  In this case, the firm would be proactive—establishing plans and strategy ahead of time—but flexible.  Yet the line between flexibility in strategy and a reactive mode sometimes can be a thin one.


                  Page:  26
Moderate

65. Explain what is meant by the dominant coalition in an organization.

Answer:

People who make strategic decisions in an organization constitute what is called the dominant coalition.  The dominant coalition almost always includes top management, but it also often includes people with technical expertise in an area under consideration.  More and more frequently, top-level human resource managers are included in the dominant coalition.  The composition of the dominant coalition may change, depending upon the strategic decision under consideration.


                    Page:  29
Moderate
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